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See Video for step-by-step  
solutions to each problem.
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Exercises

Order of Operations

2 + 7 × 3

Simplify this expression:

Simplify this expression:

Simplify this expression:

Simplify this expression:

Simplify this expression:

Simplify this expression:

Simplify this expression:

Simplify this expression:

Simplify this expression:

Simplify this expression:

10 − 2 × 3 + 5

25 − 10 + 3 − 815 ÷ 3 × 4 ÷ 2  

3 × (21 ÷ 7)

[2 × (14 ÷ 7)] − 3

36 − 1 × 42 + 5 (40 − 15) + 33 

(6 × 2) + 8 − (40 − 4 × 5) 

23 + 9 − 42


